QuEesTion 1

Factorise the following by taking the common factor out.

a Sx+10= b 3x+6= ¢ 8y+l6=

d m*+m= e 2x7+dx= f  3xy+6x=

g  6a°-3a= h 3m+15= i Ox +xy=

i 4x+16= k  5b*+10ab = 1 3m+21=
m Om-3mn = n Sx+15= 0 ay—y =

P Tmn—14mp = q _xzyz —Xyz = r 8m’n’ —16m’n =
QuesTioN2  Factorise the following by taking the negative common factor out.

a 3x-6= b —Hda-8= c —S5y—15 =
d -m’+m= e —x +5x= f 7 +2im=
g —x+4x’ = h  —dm+m® = i “3x—2x" =
J —6a—18a" = k —7y+21= 1 —8x+16xy =
m -3ag-9= n o Sxy+15x%7 = 0 —a’y+ay=
QuesTioN3  Factorise the following.

a  ab+ac+ad = px+py+pz =

¢ 2a*h+3a*h* —Sabe = d  5p’ +10m* +15m =

e  2a+4b+6¢c = f 12x% +15xy + 18xz =

g8 Xy +nl4aty= h9a’h-124°" =

i 5a% —5b% —10¢*= j 6mp+12m°p—18m* p* =

k  3ab—-6ac—9ad = 1 1257y =36x%y° =

QuesTion 4 Factorise each of the following,.

a  xx+D+2(x+1) = b y(y+2)+3(y+2) =

¢ alm+n)+b(m+n)= d  cQd+1)+2(2d+1) =

e pla+4)-3a+4)= f o o(r=2)=-3(r-2) =

g x(y—S)—3(y—5) = h p(p+4)—7(p+4) =

i x(a—6)—4(a—6) = j o 2x(3x=T7)+5(3x-7) =

k alb-c)+d(b-c) = 1 ¢(2a-3b)+d(2a-3b) =



QuEesTioN4  Factorise.

a X —xT+3x-3= b )‘3+)‘2+)’+l:

¢ 9a-9h+4a” —4ab = d  pg*—piq+Tg-Tp =

e am-2m-5a+10 = f 3xy+3xz+2y+2z =




